

## Chapter 4.

$$9. \quad W_{\text{vac}} = \frac{N!}{M!(N-M)!} \quad W_{\text{interstitials}} = \frac{N!}{M!(N-M)!}$$

$$W_{\text{tot}} = \left[ \frac{N!}{M!(N-M)!} \right]^2 \quad u = ME.$$

$$S = k_B \ln W = 2k_B \left[ N \ln N - M \ln M - (N-M) \ln (N-M) \right]$$

$$\frac{1}{T} = \left( \frac{\partial S}{\partial u} \right) = \left( \frac{\partial S}{\partial M} \right) \left( \frac{\partial M}{\partial u} \right) = \frac{1}{E} \frac{\partial S}{\partial M}$$

$$\frac{\partial S}{\partial M} = 2k_B \left[ -\ln M - 1 + \ln (N-M) + 1 \right]$$

$$= 2k_B \ln \left( \frac{N-M}{M} \right) = -2k_B \ln \left( \frac{M}{N-M} \right) = -2k_B \ln \left( \frac{M}{N} \frac{N}{N-M} \right)$$

where  $\alpha = M/N$

$$\text{Thus } \frac{1}{T} = -\frac{2k_B}{E} \ln \left( \frac{\alpha}{1-\alpha} \right) \quad \text{or} \quad \frac{\alpha}{1-\alpha} = e^{-E/(2k_B T)}$$

$$\text{or } \alpha = \frac{1}{1 + e^{E/(2k_B T)}}$$

$$M = \frac{N}{1 + e^{E/(2k_B T)}}$$

$n = 1$   
 $n = 2$   
 $n = 3$   
 $n = 4$   
 $n = 5$   
 $n = 6$   
 $n = 7$   
 $n = 8$   
 $n = 9$   
 $n = 10$   
 $n = 11$   
 $n = 12$   
 $n = 13$   
 $n = 14$   
 $n = 15$   
 $n = 16$   
 $n = 17$   
 $n = 18$   
 $n = 19$   
 $n = 20$

$$W = \frac{[(N-1) + n]!}{(N-1)! n!}$$

$$S = k_B \ln W$$

$$= k_B \left\{ (N-1+n) \ln(N-1+n) - (N-1) \ln(N-1) - n \ln n \right\}$$

$$\frac{1}{T} = \left( \frac{\partial S}{\partial U} \right)_V = \left( \frac{\partial S}{\partial n} \right)_V \left( \frac{\partial n}{\partial U} \right)_V = \frac{1}{k_B T} \frac{\partial S}{\partial n}$$

$$\frac{1}{T} = \frac{k_B}{k_B T} \left\{ \ln(N-1+n) - \ln n \right\}$$

$$\frac{k_B T}{k_B T} = \ln \left( \frac{N-1+n}{n} \right) = + \ln \left( \frac{N-1}{n} + 1 \right)$$

$$\frac{N-1}{n} + 1 = e^{k_B T / k_B T} - 1$$

$$n = (N-1) \left[ \frac{1}{e^{k_B T / k_B T} - 1} \right]$$

$$n = (N-1) k_B T \left[ \frac{1}{e^{k_B T / k_B T} - 1} \right]$$

## Chapter 5.

16 One particle

$$Z_1 = \sum_{i=1}^3 e^{-\beta \epsilon_i}$$

$$= 1 + 3e^{-\beta \epsilon} + 3e^{-2\beta \epsilon} + e^{-3\beta \epsilon}$$

$$= (1 + e^{-\beta \epsilon})^3$$

N particles

$$Z_N = (Z_1)^N = (1 + e^{-\beta \epsilon})^{3N}$$

$$F = -k_B T \ln Z_N = -3N k_B T \ln \left( 1 + e^{-\frac{\epsilon}{k_B T}} \right)$$

$$17. \quad Z = \left( \frac{V - N b_0}{N} \right)^N \left( \frac{m k_B T}{2\pi \hbar^2} \right)^{\frac{3N}{2}} e^{-\frac{N^2 a^2}{2(V k_B T)}}$$

$$-F = k_B T \left\{ N \ln \left( \frac{V - N b_0}{N} \right) + \frac{3N}{2} \left[ \ln T + \ln \frac{m k_B}{2\pi \hbar^2} \right] + \frac{N^2 a^2}{V k_B T} \right\}$$

$$P = - \left( \frac{\partial F}{\partial V} \right)_T$$

$$= k_B T N \left( \frac{1}{V - N b_0} \right) - \frac{N^2 a^2}{V^2}$$

$$\Rightarrow \left( P + \frac{N^2 a^2}{V^2} \right) (V - N b_0) = N k_B T$$

7 contd.

$$U = k_B T^2 \left( \frac{\partial \ln Z}{\partial T} \right)$$

$$= k_B T^2 \left\{ \frac{3N}{2} \cdot \frac{1}{T} - \frac{N a^2}{V k_B T^2} \right\}$$

$$U = \frac{3}{2} N k_B T - \frac{N a^2}{V}$$



# Chapter 5.

21

$$U = -\frac{\partial}{\partial \beta} \ln Z$$

$$Z = \sum_i e^{-\beta \epsilon_i}$$

$$\frac{\partial}{\partial \beta} \ln Z = \frac{-\sum_i e^{-\beta \epsilon_i} \cdot \epsilon_i}{Z} = -\frac{\sum_i \beta \epsilon_i}{Z} = \underline{-U}$$

## Harmonic Oscillator

$$E_n = (n + \frac{1}{2}) h\nu$$

$$Z = \sum_n e^{-\beta E_n}$$

$$= e^{-\beta h\nu/2} \sum_{n=0}^{\infty} e^{-\beta n h\nu}$$

$$= e^{-\beta h\nu/2} \cdot \frac{1}{1 - e^{-\beta h\nu}}$$

$$\ln Z = -\frac{\beta h\nu}{2} - \ln(1 - e^{-\beta h\nu})$$

$$\frac{\partial \ln Z}{\partial \beta} = -\frac{h\nu}{2} - \frac{h\nu}{e^{\beta h\nu} - 1}$$

$$U = \frac{h\nu}{2} + \frac{h\nu}{e^{\beta h\nu} - 1}$$